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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. “Accounting conventions and concepts are foundation 

of Accounting Principles.” Describe the various 

conventions and concepts while explaining the 

statement. 

ßys[kkadu izFkk,¡ ,oa vo/kkj.kk,¡ ys[kkadu fl)kUr dh uhao 

gSaAÞ bl dFku dks Li”V djrs gq, fofHkUu izFkkvksa ,oa 

vo/kkj.kkvksa dk o.kZu dhft,A  

2. Represent the specimen of Balance Sheet of a company 

as per Company Act, 2013.  

dEiuh vf/kfu;e] 2013 ds vUrxZRk dEiuh ds vkfFkZd fpV~Bs 

dk uewuk izLrqr dhft,A  

3. “Ratio like Statistics have an error of precision and 

finality about them which at times may be misleading.” 

Explain.   

ßlkaf[;dh dh rjg vuqikrksa ls muds ckjs eas lw{erk rFkk 

iw.kZRkk fn[kk;h nsrh gS] tks fd cgqr ckj Hkzked gks ldrh 

gSAÞ foospuk dhft,A   
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4. Current assets and Current liabilities extracted from the 

comparative B/S of „X‟ Ltd. for 2014 and 2015 are :  

Assets 

31st March 

2014 

(`) 

2015 

(`) 

Cash in hand 3,000 4,000 

B/R 6,000 8,000 

Book Debts 20,000 25,000 

Investments 6,000 3,000 

Stock  28,000 35,000 

Prepaid Expenses  1,200 400 

 64,200 75,400 

 

Liabilities 

31st March 

2014 

(`) 

2015 

(`) 

B/P 4,000 3,000 

Creditors  8,000 5,000 

Provision for tax  2,000 3,000 

Provision for bad debts  1,000 1,200 

Unpaid expenses  200 400 

 15,200 12,600 

Prepare schedule for changes in working capital. 
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^,Dl* fy- ds rqyukRed fpV~Bs 2014 ,oa 2015 ls fy;s x;s 

pkyw lEifŸk;k¡ ,oa pkyw nkf;Ro dk fooj.k bl izdkj gS % 

lEifŸk;k¡ 

31 ekpZ 

2014 

(`) 

2015 

(`) 

gLrxr jksdM+ 3,000 4,000 

izkI; fcy 6,000 8,000 

iqLrdh; _.k 20,000 25,000 

fofu;ksx 6,000 3,000 

LdU/k 28,000 35,000 

iwoZnŸk O;; 1,200 400 

 64,200 75,400 

 

nkf;Ro 

31 ekpZ 

2014 

(`) 

2015 

(`) 

ns; fcy 4,000 3,000 

ysunkj 8,000 5,000 

dj ds fy, izko/kku 2,000 3,000 

v’kks/; _.k ds fy, izko/kku  1,000 1,200 

vnŸk O;; 200 400 

 15,200 12,600 

dk;Z’khy iw¡th eas ifjorZu dh vuqlwph rS;kj dhft,A  
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. How is cash from operation calculated ?  

lapkyu ls jksdM+ dh x.kuk dSls dh tkrh gS \ 

2. Why is stock control needed ?  

LdU/k fu;U=.k dh vko’;drk D;ksa iM+rh gS \ 

3. Give the features of decision-making.  

fu.kZ;u dh fo’ks”krk,¡ crkb;sA  

4. What is zero-base budgeting ?  

‘kwU; vk/kkj ctVu D;k gksrk gS \ 

5. What is responsibility centre ?  

mŸkjnkf;Ro dsUnz D;k gS \ 
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6. Describe the Modigliani-Miller theory of capital 

structure.  

i¡wth lajpuk ds eksnhfXy;kuh&feyj fl)kUr dk o.kZu 

dhft,A  

7. What is horizontal analysis ?  

{kSfrt fo’ys”k.k D;k gS \ 

8. What is performance ratio ?   

fu”iknu vuqikr D;k gS \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

State, whether the following statements are „True‟ or 

„False‟. 

crkb;s fd fuEufyf[kr dFku ^lR; gSa ;k ^vlR;*A 

1. Management accounting comes after Financial 

Accounting.  

izcU/kdh; ys[kkadu foŸkh; ys[kkadu ds ckn vkrk gSA  

2. Only Joint Stock Co. can employ an Accountant.  

dsoy la;qDr LdU/k da- ,d ys[kkiky fu;qDr dj ldrh gSA  
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3. Statement and Account both are the same thing.  

fooj.k ,oa [kkrk nksuksa ,d gh gSaA  

4. Financial statements included both income statement 

and position statement.  

foŸkh; fooj.k eas vk; fooj.k rFkk fLFkfr fooj.k nksuksa 

‘kkfey gksrs gSaA  

5. Rule of thumb for current ratio is 2 : 1. 

pkyw vuqikr dk vuqHko fl) fu;e 2 % 1 gSA  

6. Depreciation is a source of funds.   

kl dks”k dk lzksr gSA 

7. Cash-flow statement is a substitute of cash account.  

jksdM+&izokg fooj.k jksdM+ [kkrs dk LFkkukiUUk gSA  

8. Store Ledger is kept by the storekeeper.  

LVksj ystj dksBkjh Hk.Mkj&j{kd }kjk j[kk tkrk gSA  

9. Decision-making is a rational work.  

fu.kZ;u ,d foosdiw.kZ dk;Z gSA  

10. Budget is automatic.  

ctV Lopkfyr gksrk gSA  
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